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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give answer of the following questions.
	 (i)	 Write the full form of PQLI.
		  nr ³¶y Eb AmB© H$m nyam Zm‘ {b{IE&

	 (ii)	 Who developed HDI?
		  ‘mZd {dH$mg gyMH$m§H$ H$m {Z‘m©U {H$gZo {H$¶m?

	 (iii)	 Define Endogenous Growth.
		  AÝVOm©V  g§d¥{Õ H$mo n[a^m{fV H$s{OE&

	 (iv)	 What is infrastructure development?
		  g§aMZmË‘H$ {dH$mg ³¶m h¡?

	 (v)	 What are conventional and nonconventional sources of 
energy?

		  D$Om© Ho$ naånamJV Ed§ J¡a naånamJV òmoV ³¶m h¡?

	 (vi)	 What is public distribution system?
		  gmd©O{ZH$ {dVaU àUmbr ³¶m h¡?

	 (vii)	What is cooperative Farming?
		  ghH$mar H¥${f ³¶m h¡?

	 (viii)	Agricultural modernization.
		  H¥${f H$m AmYw{ZH$sH$aU

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 Write a short note on Ricardian theory of economic development.

	 [aH$mS>m} Ho$ Am{W©H$ {dH$mg Ho$ {gÕmÝV na EH$ bKw {Q>ßnUr H$s{OE&

3)	 Describe Liberalization.

	 CXmarH$aU H$mo g‘PmBE&

4)	 Why decentralized planning required for a large nation like 

India? Explain.

	 ^maV O¡go EH$ {demb amï´> Ho$ {bE {dHo$pÝÐV {Z¶moOZ ³¶m| Amdí¶H$ h¡? 
g‘PmBE&

5)	 Explain the role of disinvestment in reference of economic 

reform.

	 Am{W©H$ gwYma Ho$ gÝX^© ‘| {d{Zdoe H$s ^y{‘H$m H$s ì¶m»¶m H$s{OE&

6)	 Write the role of Multinational Corporation in Economic 

development.

	 Am{W©H$ {dH$mg ‘| ~hþamï´>r¶ {ZJ‘m| H$m ‘hËd {b{I¶o&

7)	 Write the need of Special economic zones in India.

	 {d{eîQ> Am{W©H$ joÌm| H$s ^maV ‘| Amdí¶H$Vm {b{IE&

8)	 Write a short note on change in consumption structure in India.

	 ^maV ‘| Cn^moJ g§aMZm ‘| n[adV©Z EH$ bKw {Q>ßnUr {H${OE&

9)	 Write measures to remove income inequality.

	 Am¶ H$s Ag‘mZVm H$mo Xÿa H$aZo Ho$ Cnm¶ {b{IE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Examine the trends and problems of industrial development in 

India.

	 ^maV ‘| Am¡Úmo{JH$ {dH$mg H$s àd¥{Îm Ed§ g‘ñ¶mAm| H$m narjU H$s{OE&

11)	 Write the types of unemployment. Discuss the reasons of 

unemployment in India.

	 ~oamoOJmar Ho$ àH$ma {b{IE& ^maV ‘| ~oamoOJmar Ho$ H$maUm| H$s {ddoMZm 
H$s{OE&

12)	 Examine the achievements and failures of economic planning 

in India.

	 ^maV ‘| Am{W©H$ Am¶moOZ H$s CnbpãY¶m| Ed§ {d’$bVmAm| H$m narjU 
H$s{OE&

13)	 Examine the John Robinson theory of Capital Accumulation.

	 Om°Z amo{~ÝgZ Ho$ ny§Or g§M¶ {gÕmÝV H$m narjU H$s{OE&


